W% southpaw enterprises, inc.®

Store these instructions along with the enclosed maintenance checklist

I n s t r “ c ti 0 n s II e et in a safe place. You may also access them on our website.

In-FUN-ity * Wall Ladder - Metal Stud Wall 152001

Take time to familiarize yourself with the use and maintenance of this equipment before using. Please file
this Instruction Sheet in an accessible location: the Instruction Sheet must be read and familiar to anyone
‘ who is using Southpaw Enterprises Equipment.

IMPORTANT: Please check equipment immediately for any damage that may have resulted during shipping.
If any damage has occurred, please contact Southpaw Enterprises, Inc. immediately.

MATERIALS LIST:

1 - Ladder Top Section (6 rungs) 1 - Hardware Kit Containing:

1 - Ladder Bottom Section (4 rungs) 4 - 1/4 x 3" Toggle Bolt Anchor

6 - 3/8-16 x 1-1/2” Button Head Cap Screws 8 - 1/4” Fender Washers

6 - 3/8” Flat Washers 4 - 1/4” Internal Tooth Lock Washers

1-7/32" Hex Key
1 - Instruction Sheet
1 - Maintenance Checklist

The In-FUN-ity Climbing System is a modular system. Each instruction sheet is designed to assist you in assembling
the particular item that it accompanies. Since these items may be configured in various manners to best suit your appli-
cation, the instructions do not suggest any particular order of assembly. If you have any questions about how to set up
your system, please contact Southpaw customer service for help.

WORKING LOAD: 250 Ibs.

ASSEMBLY:

Place the top and bottom sections of the
ladder on the floor with the wall attachment g
boards on the floor. Position the top and
bottom so that the three holes in the bot-
tom of the top section will be aligned with
the three t-nuts in the top of the bottom
section.

Slide the top section into the bottom sec-
tion as shown in fig. 1. Be sure that the
head of the screw holding the ladder rung
slides into groove in the bottom section. g@=
Align the bolt holes with the t-nuts. =

Place a 3/8” flat washer on each of the
3/8 x 1-1/2” bolts. Start the bolts from the : :
inside, through the holes in the top section and screw it into the t-nut in the bottom section. Start all six bolts then tighten
securely with the hex key wrench provided.

ATTACHING TO WALL:

Position the assembled Therapy Ladder Wall against the wall where you wish to install it. Make sure that there are no
obstructions such as electric outlets interfering with the installation.
The Therapy Ladder Wall has two sets of slots in each of the mounting boards. These will accommodate mounting to
studs with either 16” or 24” centers. Using a stud finding tool, locate the two adjacent studs to which you want to mount
the ladder. Mark the center of these studs 20-1/2” and 68-1/2” from the floor. Note: it is very important to make your
mark at the exact center of the studs. Failure to do this will result in diminished holding power of the toggle
bolts. This could cause the unit to become detached from the wall resulting in injury to users.



Drill a 11/16” diameter hole through the wall and the studs at each

of the marks. (Hint: You may wish to drill a smaller pilot hole and
enlarge the hole with the 11/16” diameter bit). Remove the toggles
from the bolts. Put one split lock washer and two fender washers
on each bolt. Put a bolt through each of the slots from the front (the
side with the ladder rungs). Screw the toggles back onto the bolts
making sure that the “wings” of the toggle fold back toward the
head of the bolt. Screw the bolt into the toggle until the end of the
bolt is just through the toggle. (See Fig. 2 on reverse side). Reposi-
tion the ladder on the wall and align the slots with the holes.

Fold back the “wings” on each bolt and push them through the

holes in the wall. Tighten each bolt securely.

MAINTENANCE CHECKLIST:

All of the following wear points should be checked on a monthly
basis and recorded on the checklist enclosed.

e Check that all screws and bolts are tight. If any screws or bolts

are found to be loose, discontinue use until they are tightened.

e Check wood surfaces for cracks and splinters. If cracks are

found, discontinue use immediately and contact Southpaw
Enterprises. Splinters may be sanded smooth and refinished
with clear lacquer.

MATTING PRECAUTIONS:
o Always use appropriate matting under and around equipment.

STORAGE PROCEDURE:
o Make sure that equipment is not accessible by clients without

proper supervision.

CLEANING INSTRUCTIONS:

Check with your infectious disease department before using
these procedures.

Check for client allergies first.

Clean with a damp cloth using soap and water or disinfectant.
Dry before using.

Fig. 2

Toggle Togyyle Bolt

O

Split Lock

|
!

gLt
\

/ Washer
)

Fender
Washers

Safety Precautions - The safety of your clients is dependent on the appropriate choice of activity to match, yet challenge their
physical abilities. Use appropriate spotting / safety techniques. In addition, the layout of your activity area, proper installation and
maintenance of your equipment is critical. Southpaw equipment is not intended for recreational or outdoor use. Under no condition

should this equipment be used without proper supervision.

This sheet is for example only. It is not meant to, in any way, replace local, county, state, or Federal standards. Be aware - it is
your responsibility to find all pertinent safety information that pertains to your facility.

.A‘ Enterprises Inc.”

| Southpaw

FORM CODE: XI-152001 © 2004 Southpaw Enterprises, Inc.

Southpaw Enterprises, Inc.

Toll Free - (800) 228-1698

If you have any questions or comments, please call or write
P.O. Box 1047, Dayton, Ohio 45401 -1047

Come see us on the World Wide Web at http://southpawenterprises.com





<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Error

  /CompatibilityLevel 1.4

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends true

  /DetectCurves 0.0000

  /ColorConversionStrategy /CMYK

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams false

  /MaxSubsetPct 100

  /Optimize true

  /OPM 1

  /ParseDSCComments true

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage true

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness true

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Preserve

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages true

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages true

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages true

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile ()

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<



    /BGR <>

    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>

    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>

    /CZE <>

    /DAN <>

    /DEU <>

    /ESP <>

    /ETI <>

    /FRA <>

    /GRE <>



    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)

    /HUN <>

    /ITA <>

    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>

    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>

    /LTH <>

    /LVI <>

    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)

    /NOR <>

    /POL <>

    /PTB <>

    /RUM <>

    /RUS <>

    /SKY <>

    /SLV <>

    /SUO <>

    /SVE <>

    /TUR <>

    /UKR <>

    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /ConvertColors /ConvertToCMYK

      /DestinationProfileName ()

      /DestinationProfileSelector /DocumentCMYK

      /Downsample16BitImages true

      /FlattenerPreset <<

        /PresetSelector /MediumResolution

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles false

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /DocumentCMYK

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /UseDocumentProfile

      /UseDocumentBleed false

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [2400 2400]

  /PageSize [612.000 792.000]

>> setpagedevice



